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O[LiO|0Y, Bl nE7I&= 2| (Cmax)& 21 SAHM2|SIAS ™, 2| 2= log 0.8011M log 1.25 O|LY

EA, HEA 4 35%0] sHYSt= Cmaxl 21 ekt WH 2| 24| 90% 412|++710] log 0.772301|A] log

1.2948 O|U{0|2 2, o|AZSSHAIEY|E AM172A4T0| Tt HEstH oz S582 ASSHAULE

H| D@52 2 NHItote
= AUCo~4hr Cmax
(ng - hr/mL) (ng/mL) Tmax (hr) t1/2 ()

GA|E-480L2| 024 0.50 (0.17

CHROE | (UE|SEAIEZHEIDIY) 1769+591 | 3383+1515 | “23 »c)’ | 0.62+0.14
(EEorE) :
UE|SEAE 2O EITIAE A

2 0.33(0.17

0.64+0.16

A& of 4802|124 18404584 | 3539+1536 2125
(EQIEZHI0| 2mtot) :

90% Al2|7k

jp AU 100082100125 5409889 | l0g0.9524 _ _
= 09 0.7723 ~log | ~1.1059 | ~1.1887
Cnan 12948
(HSA=** 35%)
(AUCt, Cmax, t1/2; Bdtdl £ BEHARE, Tmax ; SHA(ER]), n = 26)

AUCt: FAIURE 23 8T AL RS €3 s=-Alt=d5tEH
Crmax : 218k
Tmax - 2| 1ESSE =12
t12 D YT &Y BT

I DBIIEAE 21se BRA 22| 90%-Alz| 72!

x ChZQF Crnon@] AIBICHAIR 3] U BHE A2 (%) o e mms s




